GIVEN DATA

Lower Boom (a) o := 30deg

Upper Boom (B) B := 40deg

cos(o) —sin(a) O

263.96
E:=| 4.00 |in
0

Rlb(OL) =

0

0

sin(a) cos(a) O
1

E{(@) = Ryp(0)-(E - 0) + O

226.6
E (o) =] 135.44 |-iy
0
—75.94
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EVALUATION |

Upper Boom |

CL1;(B) = Ryp(B)-(CL1 ~E) + Ey (@)

CL2y(B) = Ryp(B)-(CL2 ~ E) + Ey (@)

CL31(B) = Ryp(B)-(CL3 ~E) + Ey (@)

CL41(B) = Ryp(B)-(CL4 ~ E) + Ey (@)

CL51(B) = Ryp(B)-(CL5 ~ E) + Ey (@)

CL6(B) = Ryp(B)(CL6 — E) + E{ (o)

CL71(B) = Ryp(B)-(CL7 ~E) + Ey (@)

Lower Boom

CL9; (o) = Ryp(@)-(CLI9 — O) + O

CL1{(B) =

CL2,(B) =

CL3,(B) =

CL4{(B) =

CL5,(B) =
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CL9¢ () =| 121.95 |-in

0
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152.099 |i

145.992 |i
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CL10{ (v := Rpp(c)-(CL10 — O) + O

CL11 (o := Rpp(c)-(CL11 - 0) + O

CL12 (o := Rpp(c)-(CL12 - 0) + O

CL10 (o) =

CL11(0) =

CL12¢(0) =
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